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(define (calc e)

(let ((a (ev e 2())))

(if (null? a) (error "stack underflow: " a a) (car a))))

(define (ev e a)
(if (null? e) a
(ev (cdr e)
(cond ((number? (car e)) (cons (car e) a))
((symbol? (car e))
(let ((o (assq (car e) operators)))
(if o (binary (cdr o) a)
(error "illegal operator: " (car e) a)

)))

(else (error "illegal token: " (car e) a))

)
)

(define (binary op a)
(if (< (length a) 2) (error "lacking operands: " a a)
(cons (op (car a) (cadr a)) (cddr a)))
)

(define (pairlis x y a)
(if (null? x) a (cons (cons (car x) (car y))

(pairlis (cdr x) (cdr y) a))))

(define operators
(pairlis *(+ - * /) (list + - x /) *(0)))

(define (error m s v)
(display m) (display s) (newline) v)
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